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work (X,dezi) :—
tongxue (cuizu, X) .

tongxue (cuizu,x1lan) .

work (dongsong,dezi) .

speak (X,deyu) :—-work (X, dez1) .

answer . —

tongxue (cuizu,dongsong) .

?— answer.

false.

answer : —

speak(xilan,devyu) .

?— answer.

True.
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subset ([], ).

subset ([X]|Y], Z2):-
member (X, Z),
subset (Y, 2) .

?— subset ([], [a,b,c]).

true.

TR I IE R £

?— subset([c,b]l, [a,b,c]).

true

?— subset([c,d], [a,b,c]).

false.

?— subset([a,b,c], [a,b]).

false.



LE I SFIE R

unique ([]) . ?— unique([a,a,b]).
unique ([X|Y]) : - false.
not (member (X, Y)),
unique (Y) . ?— unique([a,b]).
true.
?— unique([]) .
true. ?— unique([a,b,c]).

true.



e AL+ 20k 2K

total ([], , 0). .

total ([A1|A2], [B1|B2], N):- ﬁotal([a,b,d,c],[d,b,a,c],X).

(A1=B1l, N1=1; Al1\=Bl, N1=0), X = 2.

total (A2, B2, N2),
D=

N is NI+N2. total ([a,b,c,d], [d,b,a,c],X).
X = 1.
?— total([], , X).
X = 0. ?—- total(la,b,c], [d,b,a,c],X).
X = 1.

D —

total([a,b,d,c], [d,b,a,c],?2).
true.



answer : —

Orders=[ , ,

subset (Orders,

ny

R 5

[1121314])/

unique (Orders),

total (Orders,
Li=1,

total (Orders,
Wang=1,

total (Orders,
Zhang=0,
total (Orders,
Yang=2,

write (Orders) .

[1,2,3,4],

[1,3,4,2],

[4,3,1,2],

[4121311] 4

Li),

Wang) ,

Zhang) ,

Yang),

?— answer.
[3121411]

true.
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getOrders (Orders) : —
Orders=[ , , , 1, ?— getOrders (Orders) .
subset (Orders, [1,2,3,4]), Orders = [3, 2, 4, 1].

unique (Orders),

total (Orders, [1,2,3,4]1, Li),
Li=1,

total (Orders, [1,3,4,2], Wang),
Wang=1,

total (Orders, [4,3,1,2], Zhang),
Zhang=0,

total (Orders, [4,2,3,1], Yang),
Yang=2.
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determineAnswer (X, Orders) : -
getOrders (Orders),
((X=a, nthO0(1,0Orders,1, ));
(X=b, nth0(2,0rders,2, ));
(X=c, \+(nth0(0,0Orders,3, )));
(X=d, \+(nthO0(3,0rders,4, )))).

?— determineAnswer (X, Orders) .
X = d,
Orders = [3, 2, 4, 1].



T HAL

getOrders (Orders) : -
subset ([], ).
Ordexrs=[ , , , 1,

subset ([X|Y], 2Z):- A

b t O d 4 1121314 7
member (X, 2) subset (Orders [ 1)

subset (Y, Z) . unique (Orders),

total (Orders, [1,2,3,4]1, Li), Li

Il
H
~

unique ([]) .
unique ([X|Y]) : - total (Orders, [1,3,4,2], Wang), Wang=1,

not (member (X, Y)), total (Orders, [4,3,1,2], Zhang), Zhang=0,

unique (Y) . total (Orders, [4,2,3,1], Yang), Yang=2.

total ([], , 0). determineAnswer (X, Orders) : -

total ([A1|AZ2], [B1|B2], N):- getOrders (Orders),
(A1=R1l, N1=1; Al1\=Bl, N1=0), ((X=a, nthO0(1,Orders,1, ));
total (A2, B2, N2), (X=b, nthO0(2,0rders,2, ));
N is N1+N2. (X=c, \+(nthO0(0,0Orders,3, )));

(X=d, \+(nthO0(3,0rders,4, )))).



